AFHAN)—95T

2019/06/26 15:19

aVRE: =T LT4—AW 1.5.29

BfEER B 19468268 (K)

St gy ety smAm
HDCPL[R: Bitk:18 Zik:18 =7 :18 2.5t 5 % 50 A
BLAIL: OUT DEEDES T RN
IN __ (00233did it - 66 A
JE BT SmE4 OUT | IN GROSS| HDCP | NET e
B & BEF 35 35 12 338
2 REHR= 34 34 00 340 -7cr#sG
3 XiF X 90 50 156 344
4 M ZER 37 37 24 346 -reom
5 BXE 42 42 72 348
6 TR =KF 46 46 108 35.2
7 k3 iE 40 40 48 35.2
8 HEaBEA 43 43 7.2 35.8
9 thHE —3h 49 49 132 35.8
10 TE RBA 43 43 7.2 35.8
11 ®|KREF 42 42 6.0 36.0
12 RE A 42 42 6.0 36.0
13 T MR 47 47 108 36.2 =7evH
14 rhx BFT 40 40 36 364
15 SH# =— 46 46 96 364
16 IE #E4&E 46 46 96 364
17 #H £5 40 40 36 364
18 AR K == 39 39 24 36.6
19 K& &5 39 39 24 36.6
20 = IE1T 39 39 24 36.6
21 ek ES 49 49 120 370
22 FRKE 42 42 48 37.2
23 #@EF F£4 42 42 48 37.2
24 FHK IEWR 42 42 48 37.2
25 K& BAZE 41 41 36 374

1/3R—=




AFHAN)—95T

2019/06/26 15:19

aVRE: =T LT4—AW 1.5.29

BfEER B 19468268 (K)

Sans g7 ey oA

HDCPL[R: Bitk:18 Zik:18 =7 :18 2.5t 5 % 50 A

rs%ur\jly;t? oUT TDODED ST 3:'5; 18ﬁ
IN (0@ it - 66 A

JE BT SmE4 OUT | IN GROSS| HDCP | NET e

26 FH X 41 41 36 374

27 g EE 47 47 96 374

28 kH AA 47 47 96 374

29 Hil i 41 41 36 374

30 AF B= 40 40 24 376

31 FKE 46 46 84 37.6

32 AR FZ 38 38 0.0 38.0

33 Rith pEt 50 50 120 38.0

34 M= FH 44 44 6.0 380

35 HT & 44 44 6.0 38.0

36 L EEF 49 49 108 38.2 -7evH

37 L#E 2Rl 43 43 48 38.2

38 WH=FX 49 49 108 38.2

39 ER =HF 48 48 96 384

40 EK F&R= 42 42 36 384

41 TE F= 42 42 36 384

42 BrE EE 42 42 36 384

43 BB =B/F 47 47 84 38.6

44 FHIR WA 41 41 24 386

45 AH FX 47 47 84 38.6

46 A X3 02 52 132 38.8

47 R &1 46 46 7.2 38.8

48 LR 1§k 40 40 1.2 388

49 thH 5T 51 51 120 39.0

50 Eir EEE 50 50 10.8 39.2

2/3R=T




AFHAN)—95T

2019/06/26 15:19

aVRE: =T LT4—AW 1.5.29

BfEER B 19468268 (K)

ffAa—X: OUT IN IBRLRE A iE: R~y IE
BEAER: BIRUT BSEIERL: 1%kt SmMA

HDCPLFRE: Bt 18 &it:18 =7 18 2.5 g i 50 A
Hvbk: PA 3INUTA & 16 A

ELAR—I/L: OUT OD@DB&DE®Q® ety £ 0A

| EARABADABAD) it 66 A

JNE £z SmE4A OUT| IN GROSS| HDCP | NET e

51 &S # 44 44 48  39.2

52 Al BAE 54 54 144 39.6

53 Wik Zt 48 48 84  39.6

54 Jtpk iR 42 42 24 396

55 =EH F{T 48 48 84 396

56 {FZE —E&f 47 47 7.2 398

57 B =KF 58 58 18.0 400

58 EER £F o6 56 156 404

59 BX Fi# 94 54 132 4038

60 S8 FHE 58 58 16.8 41.2

61 [HE i3 52 52 108 41.2

62 LB EF o6 56 144 416

63 BE X# 95 55 132 418

64 AL FI 58 58 156 424

65 =iE =R 56 56 13.2 428
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